
 / ndf 2χ   1541 / 221
   Γ  0.051± 8.006 
    1C  0.004± 1.111 

     φ  0.011± 1.229 
    2C  0.004± 1.078 

 (deg)θ production angle 0π
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 / ndf 2χ   1541 / 221
   Γ  0.051± 8.006 
    1C  0.004± 1.111 

     φ  0.011± 1.229 
    2C  0.004± 1.078 

 yield Si all HYCAL0π
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 / ndf 2χ   1541 / 221
   Γ  0.051± 8.006 
    1C  0.004± 1.111 

     φ  0.011± 1.229 
    2C  0.004± 1.078 

 (deg)θ production angle 0π
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 / ndf 2χ   1541 / 221
   Γ  0.051± 8.006 
    1C  0.004± 1.111 

     φ  0.011± 1.229 
    2C  0.004± 1.078 

 yield Si all HYCAL0π



 + 0.00 (deg)θ
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Eid: [001, 039]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

fit together

/NDF2χ:   θ

:   1.25o< 0.5

: 1.20o~1.8o0.5

: 4.50o~18.89o1.8

Eid: [001, 039]

 + 0.00 (deg)θ
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Eid: [001, 039]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

Eid: [001, 039]



 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 4.50 (deg)θ
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Eid: [040, 072]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

fit together

/NDF2χ:   θ

:   1.65o< 0.5

: 1.50o~1.8o0.5

: 4.50o~16.05o1.8

Eid: [040, 072]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 4.50 (deg)θ
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Eid: [040, 072]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

Eid: [040, 072]



 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 9.00 (deg)θ
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Eid: [073, 106]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

fit together

/NDF2χ:   θ

:   2.02o< 0.5

: 1.68o~1.8o0.5

: 4.50o~14.59o1.8

Eid: [073, 106]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 9.00 (deg)θ
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Eid: [073, 106]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

Eid: [073, 106]



 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 13.50 (deg)θ
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Eid: [107, 145]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

fit together

/NDF2χ:   θ

:   1.48o< 0.5

: 1.82o~1.8o0.5

: 4.50o~10.19o1.8

Eid: [107, 145]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 13.50 (deg)θ
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 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

Eid: [107, 145]



 / ndf 2χ   3112 / 1121
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     φ  0.010± 1.291 

    2C  0.0037± 0.7699 
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Eid: [146, 180]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

fit together

/NDF2χ:   θ

:   1.49o< 0.5

: 2.28o~1.8o0.5

: 4.50o~9.42o1.8

Eid: [146, 180]

 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

 + 18.00 (deg)θ
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 / ndf 2χ   3112 / 1121

   Γ  0.051± 8.061 

    1C  0.004± 1.139 

     φ  0.010± 1.291 

    2C  0.0037± 0.7699 

Eid: [146, 180]
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Eid: [001, 039]

 / ndf 2χ  751.9 / 221

   Γ  0.107± 7.881 

    1C  0.01±  1.18 

     φ  0.023± 1.301 

    2C  0.007± 0.719 

/NDF2χ:   θ

:   1.11o< 0.5

: 1.67o~1.8o0.5

: 17.99o~uimanager.get_max_angle()o1.8

Eid: [001, 039]
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Eid: [001, 039]

 / ndf 2χ  751.9 / 221

   Γ  0.107± 7.881 

    1C  0.01±  1.18 

     φ  0.023± 1.301 

    2C  0.007± 0.719 

Eid: [001, 039]
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Eid: [040, 072]

 / ndf 2χ  692.2 / 221

   Γ  0.113± 8.183 

    1C  0.010± 1.166 

     φ  0.02±  1.29 

    2C  0.0077± 0.7522 

/NDF2χ:   θ

:   1.53o< 0.5

: 1.79o~1.8o0.5

: 15.73o~uimanager.get_max_angle()o1.8

Eid: [040, 072]
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Eid: [040, 072]

 / ndf 2χ  692.2 / 221

   Γ  0.113± 8.183 

    1C  0.010± 1.166 

     φ  0.02±  1.29 

    2C  0.0077± 0.7522 

Eid: [040, 072]
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Eid: [073, 106]

 / ndf 2χ  654.1 / 221

   Γ  0.111± 8.024 

    1C  0.010± 1.145 

     φ  0.02±  1.31 

    2C  0.0080± 0.7467 

/NDF2χ:   θ

:   2.02o< 0.5

: 1.71o~1.8o0.5

: 14.41o~uimanager.get_max_angle()o1.8

Eid: [073, 106]
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Eid: [073, 106]

 / ndf 2χ  654.1 / 221

   Γ  0.111± 8.024 

    1C  0.010± 1.145 

     φ  0.02±  1.31 

    2C  0.0080± 0.7467 

Eid: [073, 106]
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Eid: [107, 145]

 / ndf 2χ  485.9 / 221

   Γ  0.118± 8.181 

    1C  0.010± 1.116 

     φ  0.02±  1.28 

    2C  0.0092± 0.8054 

/NDF2χ:   θ

:   1.47o< 0.5

: 1.48o~1.8o0.5

: 10.34o~uimanager.get_max_angle()o1.8

Eid: [107, 145]
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Eid: [107, 145]

 / ndf 2χ  485.9 / 221

   Γ  0.118± 8.181 

    1C  0.010± 1.116 

     φ  0.02±  1.28 

    2C  0.0092± 0.8054 

Eid: [107, 145]
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0 0.5 1 1.5 2 2.5 3 3.5 4 4.5

0

100

200

300

400

500

600

700

800

900

Eid: [146, 180]

 / ndf 2χ  450.4 / 221

   Γ  0.118± 8.056 

    1C  0.009± 1.093 

     φ  0.024± 1.275 

    2C  0.0102± 0.8771 

/NDF2χ:   θ

:   1.51o< 0.5

: 1.49o~1.8o0.5

: 9.26o~uimanager.get_max_angle()o1.8

Eid: [146, 180]

 (deg)θ
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Eid: [146, 180]

 / ndf 2χ  450.4 / 221

   Γ  0.118± 8.056 

    1C  0.009± 1.093 

     φ  0.024± 1.275 

    2C  0.0102± 0.8771 

Eid: [146, 180]
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